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1) Since AUA= and AnA = Y ,

⑪(A)+ P(A) = ⑪(2) = 1

-(AY = 1- P(A) A

2) If AB = I ,

BY4 From Definition 7 .1 . 5
else it AnBFP ,
Since (APAB) &(ARB) = 0 from Definition 7 . 7 . 5

P(A)ArB) + P (AB)= P((A1AnBUCAnB3) : P(A) .

By applying this argument to BIA1B) , we get
P(AUB) = P(A)(AnB))+P(BI(AB)) + P(AnB)

= P(A) - P(AnB)+ P(B) - D(AnB)+ IP(AnB)
= IP(A) + IP(B) - D(AB)I

3) AcB - B= AU(BIA)
then

DB) -P(A) = P(AU(BIA))-⑪(A)
= D(A)+ D(B(A)-D(A(B(A)) -↑(A)
= P(B(A) - P(0)
= P(BIA)

Since AcB , PIBIA) = IP(6) = 0 so

↑(B) - (A) = 0

=> P(A) = ⑪(B)
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Lemma 1.1.7 (Continuity of probability). Let (n,'T,IP) be a probability space and consider {A1}1EN c 'T. If �� 
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4)A Jc A J+J for any j, then 

f)while if A j :::> A j+I for any j, then 
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